1= SetDirectory[" /wwy/user /fdahl /paper s/Conj ugation/"1;
<< kappalLi b. m
<< Petrov. m

Petrov routine | oaded
KappaLib v1.1
KappaLi b v1.1

Petrov routine | oaded

= Class VII: (111111)

000100
000010
- B = 0 00OO?1]|
100000])
010000
001000
| ambdal 0 0 0 0 0
0 | anbda2 0 0 0 0
e V= 0 0 | arbda3 0 0 0 )
N 0 0 0 | anbda4 0 0 '
0 0 0 0 | anbdab 0
0 0 0 0 0 | anbda6

infe:= Ei genval ues[V]
ourel= {l ambdal, | anbda2, | anbda3, | anbda4, | anbda5, | anbda6}
epsl O
eps2
7= W=

O O O oo
o
O O O oo

eps6
ing:= Ei genval ues [W

ousl= {epsl, eps2, eps3, eps4, eps5, eps6}

o= W=W/. {epsl-» -1, eps2-» -1, eps3 » -1, eps4d > 1, eps5 » 1, eps6 » 1};
W// Matri xForm
Ei genval ues [W

Out[10]//MatrixForm=

-1 0 0 00O
0 -1 0 00O
0 0 -1 000
0 0 0 100
0 0 0 010
0 0 0 001

oui= {-1, -1, -1, 1, 1, 1}



2| ClassVil.nb

1 1
-7 0 0 > 00
1 1
0 - > 0 0 > 0
0 0 -200 %
nf121= S =Sqrt [2] 1 N ;
> 0 0 > 00
1 1
0 > 0 O > 0
1 1
0 0 > 00 >
m Check that Sis in set mathcal(S)
in[13):= Transpose[S].B. S =W
out13]= True
= Compute result
In[14]:= res = S. V.l nverse[S];
res // MatrixForm
Out[15]//MatrixForm=
| ambdal | ambda4 | ambdal | amhda4d
> e 0 0 - D 0 0
0 Iam;daz N Iamz)das 0 0 _ | antz)daz . | antszaS 0
0 0 Ian‘;da3 . Iarﬂ;daG 0 0 ~ Iarﬂ;da3 . Iarﬂ;dae
_ Iamz)dal . | amz)da4 0 0 Iam;dal . Iamz)da4 0 0
0 _ Iarﬂ;daZ . Iarﬂ;das 0 0 Iarﬂ;daz N Iangdas 0
| anbda3 | anbda6 | anbda3 | anbda6
0 0 -T2 v T2 0 0 — 2
in[16]:= Petrov[res]
Out[16]//MatrixForm=
> (~lanbdal + | anbdad) 0 0 0
0 = (-1 anbda2 + | anbda5) 0 0
0 0 2 (-1 anbda3 + | anbdab) Lanbdad ] anbdad
0 0 Lanbdad-lanbdad > (-l anbda3 + | anbdas6)
0 IanbdaZ;I anbdas 0 0 % (-
| anbdal;l anbda4d 0 0 0

= Export notebook as .pdf

in171:= Not ebookPri nt [Sel ect edNot ebook [],
" /wwwy/user /f dahl /paper s/Conj ugati on/not ebooks/C assVI | . pdf "]



